a What is the standard decimal form of

10 x 1+ 6 x0.001

What is the standard decimal form of the following expressions. Tick the correct answer

c. 1x4+8x1+2x0.001

Ohooo2 Oisoos Ohlesooa O32.002

d. 10x0.2+5x0.0T

e 1x9+2x1+6x0.001

Onos | O Omnoos Omng

1x2+1x0.1
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Convert decimals between standard and expanded form

What is the standard decimal form of

10 x 1+ 6 x 0.001

D

To solve this, let’s separate the expression into two parts and then evaluat

(10 x 1D + (6 x 0.00D) = (10) + ( 0.006)

= (10 + 0.006)

=10.006

So, the standard decimal form is/10 .006

What is the standard decimal form of the following expressions. Tick the correct answer

7x1+5x0.1

1x4+8x1+2x0.001

M12002 Osoos D004 32002

10 x 0.2 +5 x 0.01

Moo0s [O2.06 O207 | Ob.o4

1x9+2x1+6x0.001

Omnos | O M1100s Onc

7 x 0.001+6 x 0.001+10 x 1

10013 Oho. Ohoor Ono
1x2+1x0.1
Oi2 Onoz O2.01 l21 ‘1
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